normalized X?

T chiz chiz_prob
10~ Entries, 20198 Entries 20198
Mean 3.444 N M Mean 0.1977
Std Dev 3.907 [o)<] A S 3 . Lstd Dev 0.2937
2 hiz : : PR
10 Entries 20130 FE Entries 20130
Mean 3.444 0.4E-- - i . | mean 0.1978
Std Dev 3.908 g . v Std Dev 02937 |
-3 H H FE I
10 P .
0.3fF--ieebeenr -
1074F N - N
0.2 --te--reenr -
-5k oo P
107E U] AR oot
SRR I ERERE = HH‘IHHH HH HHH ‘HHHIHHHH’I‘ HHHHHHH HHH IHH‘HHIHHHH‘
=1 . k=1 1 | | | | | | | | |
] : © (I A N
g : -,‘:H:’:’::‘:"’::I
r i il
R :' e e ][t
-====||=||=\|H| il
0.5 : 0.95 TR I
0 2 4 6 8 10 12 14 16 18 20 0. 0.3 0.4 809 1
x? Prob(xz)
A 5
- E
k=] E
£ 45 o [
% F : :
v 4:_' I | A
3.5F SR LR ETLED
3:__ === DQM_V0001_R000000001__Global__mkFit10000__RECO
2 .:E === DQM_V0001_R000000001__Global__mkFit1000__RECO
.5F n n n n
8
T
o
0.
A A F
E 2 18fF-
= - o
% < 1.6F-
\Y v E
1.4~
1.2F
-
0.8F-
0.6F
0.4F
0.2F
k! o &
T T
@ o
0.5
0. ol >
10 10~

[ normalized x? probability |

-1
AR(track, jeltS)




	Contents
	Page 1


